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- SUB:- PHYSICS PAPER-202 CODE: 8386/8390

(Mathematical physics, Electricity Magnetisem )
TIME: 2:00 hours  Amyii 20l - TOTAL MARK: 75

Instruction:- (1) Symbols have their usual meaning.
{2) Figures on the right indicate total marks of the question.

Q.1 (a) Derive Cauchy-Riemann conditions for function f(z). [07]
(b}¥1) Explain complex number, complex variable and complex  [06]
function.

{2) Obtain real and imaginary parts of the following function: ~ [06]

() flz) =" (i) Ffz)=z+ - (i) fz) =(z2)
OR
Q1 (a)  Derive value of co-efficients (ag ,a, ,b, )} for Fourier series.  [14]

(b}  Represent following function in Fourier series. {05]
(0 (—m < x <0)
f(X)"{1 (0 < x < m)
Q.2 {a)  Explain Hall effect for conductor and derive necessary [22]
equation for Hall voltage.
{b)  Write short note: Wattmeter [07]
OR
Q.2 {a)  Whatis galvanometer ? Explam moving iron type [10]
galvanometer ?
(b)  For ballistic galvanometer,prove that g=ko, [09]
Q3 (a}  Explain different types of capacitors. 112
(b)  Derive an expression for capacity of cylindrical capacitor. [07]
OR
Q3 (a}  For Homogeneous an isotropic medium derive Poisson’s [11]
equation and obtain Laplace equation from it,
(b)  Explain Electrical Images. [08]
Q4 (a)  Derive Maxwell's equation in differential forms and give [14]
the ' Physical interpretation of each equation.
-. . = B - — 30  [04
(b} Using Maxwell’s equation, curl £ = —Z—f and curl H =] +—'5£- [od]
show that div B =0 and divD = o
OR
Q4 (a)  State and prove equation of continuity. [07]
(b) (1) Explain the concept of displacement current [07]

{2) Prove that: div(r®#) =0 - o4}
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